Sistemas de Inecuaciones

Resuelve
z+ y <5
2+ y >3
Solucién:
|y
r4+y=5=—= 015
510
T Y
2c4+y=3= 0 |3
3/210
z+ y =5 r=—2
-2
{2$+y=3{y= = (-2.6)
Resuelve
2+ 3y <12
r— y >3
Solucion:
Ty
2¢4+3y=12= 0|4
610

r—y=6= 0

6
20+ 3y =12 r=06
{ — y =6 {yzo = (6,0)
Resuelve 20+ 3y > 12
z— 2y <1
Solucién:
Ty
2r+3y=12=— 0|4
610
x Y
r—2y=1= 0| —-1/2
1 0
2+ 3y =12 x=27/7
{ 2y =1 {y=10/7 — G
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Resuelve

+ y <1
z— y >0

Solucion:

1y
r+y=1=— 0|1
1/0

{x—i— y il {x—1/2 s 1/2.12)

x— y =0 y=1/2
Resuelve
2c— y >1
x+ oy <2
Solucién:
z Y
2 —y=1=— 0 | -1
1/21 0
|y
rT+y=2= 0]2
210
20—y =1 r=1
{ + oy =2 {y=1 = 1)
Resuelve
1 ) 2. 3 1
{x -2z -8< 0 { < 3 {5 A< 3(x—1)
-1
=l 0 Ar—1) < 5—1) v 2

Sol: [-2,—1) U (1,4] Sol: (—1,3) Sol: ¢





